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1. Solve the initial problem of the differential equation. (15%)
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2. Solve the differential equation. (15%)
Y'—4y'+dy = e

3. Inthe following problem, use the linearity of the Laplace transform to find the inverse Laplace
transform of the function. (20%)
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4. Find an orthogonal matrix that diagonalizes the matrix and compute the indicated power of

matrix. (20%)
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5. Let

Find the Fourier transform of the function. (20%)

6. In the following problem, evaluate:’f; cF - dR . Ris position vector and the symbol §C means

a line integral is taken around a closed curve. The curve is oriented counterclockwise. (Hint:
Green’s theorem) (10%)

F= 6xij , C isthe circle of radius 3 about the origin.



